= A
N = 0] &F AF S & AN A
20188 = 20l A LEHSH WE W
EA: WEI
Hu: DEAL 25 L K22
CHR: NENMAIEE EH|, &= (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
wE 1,167,049 1,775,641 A 608,592
Al 5,000
- 1,162,049
WEANE &5 2 X2 729,500 394,500 335,000
Al 5,000
- 724,500
NEHMAIEE HH|, &= 729,500 394,500 335,000
Al 5,000
3 724,500
WECHHAIEES AX & 22| 562,000 301,000 261,000
401 Al HI L £ 0HHI 562,000 301,000 261,000
01 Al& B 560,000 300,000 260,000
O WESoHEAE=Z X £ 22| 560,000
O W=eXE 88X & M 130,000
EEXE AX 2,000,000 =204 40,000
WYX E M 1,000,000 x90JH 90,000
O WEEXE & =E2EXY B2s 41
s s 260,000,000 « 1Al 260,000
O HeglolEsY WECHHMAIEE &EH|
100,000,000 =14l 100,000
O HelolESY LEDE X B & X| (=0l H ot
A 20,000,000 x 1Al 20,000
O H20I8S37Y HU|I(FCIMOtAIY)
20,000,000& = 14! 20,000
O LX=Z L0l AXI(FCIHOAY)
10,000, 000& »2A! 20,000
O 8a8s EZJ| AXI(=CIHMOAIY)
5,000,000 =24l 10,000
03 Al 201 Y| 2,000 1,000 1,000
O WECHHAEZ X & 22|
2,000,000 =1 2,000
ANEH Ol 2435 7,500 43,500 A 36,000
Al 5,000
- 2,500
201 et d| 7,500 7,500 0
Al 5,000
- 2,500
01 A2t 2| H| 7,000 7,000 0
O NEAx2IdEH 2 XS 7,000,000& =14l 7,000
Al 5,000
- 2,000
02 22244l 500 500 0
O XNEANx2ldH &2 500,000 =1 500
SYEFI o CCTVAR 2 22 160,000 0 160,000




2AMd: DS
M NSANE 25 A2
el NESHMAIEE U, &S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 160,000 0 160,000
01 A& HI 160,000 0 160,000
O Y= DHACCTVE X
40,000,000& *44 160,000
NS 2s & 21,165 18,187 2,978
AENSI XNE &= 2e 21,165 18,187 2,978
HENSI XNE &HH 2e 21,165 18,187 2,978
201 Let24d] 2,190 6,187 A 3,997
01 At 2teltl 500 3,600 A 3,100
O ANHEXNSA =X & Nsxt2el &
o M= 100, 000 *5JH4 500
02 2324l 1,690 2,587 A 897
O =322 % HA 1,690
O gtttz 330R*702A x 122 278
O sJIsE= 1,960& 604 123 1,412
204 AR HH| 18,975 12,000 6,975
03 EZYREH 18,975 12,000 6,975
O tHerg sl 18,975
O gt 50,0003 29«12 17,400
O AP EH T IIH 43,7503 x3H 128 1,575
AAsx el ¥ NsSod S8 65,263 63,841 1,422
WSAHE 22| 34,863 41,741 A6,878
SX HIIZ A DIOIH X 2tel 12,984 17,261 N4 27T
201 Let24d] 12,984 16,821 A 3,837
01 At 22l 1,760 2,415 A 655
© gEt=EH| 1,760
O OCRLIXIAM QI 80,000& 54 It 400
O ZAMXS CHHS M, ZAEEN & HH =
HE2 MESXA 2 70,0003 x44f Xk +35 840
O UsXE A J12tZ 0 eHHE N eI =
diold Zele &Y 195,000 * 14 195
O E=5F UM 65,0003 =54+ Xt 325
02 =224l 11,224 14,406 N 3,182
0 3323 ¥ HA 11,224
O ZAMXS SHHSE A E DRAN LEIRES
3303 +500H4 123 1,980
O MHHEDXAM EUREE 360&+2,7002 972
O LHEME MESIAH SIRER
1,960& 210 123 4,940
O ANTZAN HHZEZ2
3,4703+802 128 3,332
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EX: BwEY
M UsSk 22 € NSt X
Sl REHI 2L CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O EE2 & 600,000 x 1 600
O WEALD 30% =012 2= 4,000
O &%= Mz 50, 000& *20H x23] 2,000
O =222 ME 2,000,000& =1 2,000
O 24 WESoHEXZB0l &AL 2,000
O 88 IY(o N 5)
1,000,000& 1 1,000
O 222 HZ& 1,000, 000& *1& 1,000
307 212t0| & 22,000 20,000 2,000
02 AABHMANEEX 22,000 20,000 2,000
O NEEANSIIFEHIAIY
12,000,000& x 1 12,000
O BEFIX 25 NBALY
10,000,000& 1 10,000
HHSHAY (WED) 351,121 199,113 152,008
oA A 269,257 135,573 133,684
ol 24 H| 269,257 135,573 133,684
101 2121 4| 263,459 133,713 129,746
01 2% 117,973 76,476 41,497
O AlZ2t2z2222¢ 117,973
O 62 11,7043 *35A| 2t x5H « 128 24,579
O 73 10,003& *35A| 2F*x10H x 128 42,013
O 82 8,980& *35AI 2tx 10 128 37,716
O 92 8, 117& *x35A| 2t*x3H 128 10,228
O XA 114,536, 000& *3% 3,437
02 JIEt®& 2% 145,486 57,237 88,249
© 72 (Lt I M) 65,148
O HSNH 51,579,000 »1H =14 51,579
O ANZe224g
16,9603 *35A 2t *x 1H x12& 7,124
O XM AH| 58,703,000 *3% 1,762
O s 2,160
B < Xt 40,000& x1H «12& 480
INJE] 20,000& *3¥ x12& 720
- A Ol = XA 80,000& x1H «12& 960
O HHZzAY| 130,000 x 1H «12& 1,560
O nNsyga 64,185,000& *1.5%*1H 1A 963
O AlZtHEHHAIIH(0IZ) 80,338
O HESNH 18,120,000& x3Y x 1A 54,360
O AM2HZ224E 8,117 +25A1 2Hx3H x 122 7,306
O S84 64,380& x3H 128 2,318
O XA 59,724,000 *3% 1,792
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H0 Mo &2

02 02
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oy
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E
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SN HH-S(BN) - MBAY - B il HlnE2
O IH=s=g 20,0003 x 118 128 2,640
O EHg A 130,000& 3 128 4,680
O HIt2 4l 4,459% «3H x 140 Al 2t 1,873
O 42 5,369
=0AHZ 73,027,000& =4 5%* 105% 3,451
NEEE 73,027 ,000& *1.5%*105% 1,151
MTHE E 73,027,000 & * 1%* 105% 767
204 AR A H| 5,798 1,860 3,938
02 g2 Xl 5,798 1,860 3,938
O ¥z x4l 5,798
O 72(LIHMs=HA) 155,000& 1H 128 1,860
O AtHE MM (0tZ)
125,000 *3% 122 x35/40Al 2t 3,938
2l 81,864 63,540 18,324
=3l 81,864 63,540 18,324
201 Let24dy] 18,744 13,980 4,764
01 At 22/l 17,960 13,208 4,752
O «Et==EH| 8,360
O BEA2E+EH|
(25,0009 +29H «12& )*0.8 6,960
O dioIdZ2lE )l EY (31 =LBP251dwy)
250,000& *5H 1,250
O 98 nSetdAto & A0t
(100,000 *1JH )+(50,000& +1JH ) 150
O =S&l 9,600
O S2=4Hl  (8,000& *x25H 541 x12& )*0.8 9,600
02 2322l 784 772 12
O 3322 %2 MA 784
O 22Uy NE & LRIXM SR
Hz 1,960& 4004 784
202 oddl 58,320 45,360 12,960
01 = LH o4 1l 58,320 45,360 12,960
O JI2g2F& A 180,000& »27H «12& 58,320
203 QR Z= A Y| 4,800 4,200 600
04 EMNSSIHRF=EHI 4,800 4,200 600
O RBA2IYRF=AH 400,000 x12& 4,800




